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Maximum Marks: 70
General [nstructions: . | | ;
) All questions are OMPLEOD - Al qucstions are CompSTY Ly Sacton C ha
(ii) The question e o has five sectii” k edc ,'Se":”ﬂ”qﬂ has 5 questions of 7 marks edc d. -’;;ernfm--ﬁ has >
(iii) Section-A has 16 questions ;f : .mar as 2 case-based questions of 4 marks each; ¢
. ks each; Section~ i
questions of 3 mar | =, ki b
questions of 5 marks each H P m;grriaf cholces have been pmwd.{:d in some @'”E“m” :
' ever, .
(iv) There is ho overall choice. [TOWEYE SstionS.
| r’i attempt aﬂf}' one ﬂffhﬂ ﬂfl’ffﬂﬂ”‘-"ﬂj m Sl'icbeﬂfd d!'ﬂgrﬂm should be drawn.
(v) Wherever necessary, neat and prﬂpfﬂ}’ a :
3 Se,cuun-h . per of common
£ - . jom in 8 Bxonomic hierarchy, the num
oy~ As we go from species to kingdom
: charactéristics ‘ e decrease
ﬂill decrease (b) Will increase (¢) Remain same (d) May 1
4
2/ A dikaryon is formed when
5 (C] C}’tﬂplﬂﬂm does not fuse

(a) Meiosis is arrested

(b) TQIWG haploid ce

_f‘;
; e of the above
h serial repetition of at

lIs do not fuse immediately (d) Non

.-"--,. e
@3~ Insome animal groups, the body is found divided Into compartments Wit
least some organs. This characteristic feature I8 called etam iS
‘(a} Segmentation (b) Metamerism (c) Metagenesis Ok g
Q4  Which one of the following is not a poisonous snake? :
(a) Cobra (b) Viper (c) Python (d) Kratt
-7

Q5 A prothallus is
(a) A structure in pteridophytes formed before the thallus develops

(b) A saprophytic free-living structure formed in pteridophytes
/ (c) A gqm?tpphm free living structure formed in pteridﬂph}'tﬂf‘r
/' (d) A primitive structure formed after fertiljzation in pteridophy€s

QG_/ Cis and trans face of golgi body are ] respectively. Nt
: (a) Convex, Concave (b) Concave, Cﬂnmﬂj ConveXx, Convex (d) Concave, CO
7

¢
Which of the following membrane proteins olly or totally buri :
(a) Integral proteins  (b) Peripheral p,:tzs:;m () Both (2) and (b) (@) Glycoproteins

Q8  Which one of the following pairs is wrongly matched” _
(a) Salvinia — Prothallus (c) Mustard - Sjme:rgldﬁ
(b] Viroid’s - RNA (d) Ginkgo — Archagunla

Ureters act as urinogenital ducts in
(a) Human males  (b) Human female (c) Both male and

Identify the phase of the cell cycle.
(a) Prophase (c) G2
(b) GO (d) Telophase

Q11 Which one is correct about DNA?
(a) DNA exist as double helix.
(b) Two strands of polynucleotide in DNA are antiparalle].

(G) The nitrngm bases ‘ected 4
inside. are projected more ot less perpendicular to this backbone but face

: (d) All the
e Cor;e;;: is the region found between:
a) Pericycle and endodermi
| (b) Endodermis and pithmm %%s
[1-BIOLOGY ¥ Epidermis gng stele

i " ol




en below.

i s iV
o tions BV k.
out of “-':ch explanationl of the assertion
oF f:upln.nﬂtiﬂn of the assertion

and reason carefully to mark th N

assertion . = 7% it
: and the reason are tmet’“l"re:ct ﬂpd N s r_'.ﬂrrr'it

assertion and reason are true by ang the 4 nd "

n is true but the reason is fags:'he l‘eas-'?ﬂl

Read the assertion
(a) If both the

(b) If both the
(c) Ifthe assertio

/ (d) If both the assertion and reason are false.
Q13 Assertion: Bacteria are the mosl abundant m; ism”
/ mic .

Reason: Bacteria only shows autotrophic m ro-or® ;1io™ . oatey
P ode uf‘ﬂ“ﬁi ot ,spiration.

4 Assertion: Trichomes helps :ln preventing water | Jue mes:
Reason: On the stem, the epidermal hairs are caljed u—ich
N thylglucnsamine

in is homopolymer. e
is made up of only one type of mopo™® ¥
: i g o to ' egree
6 Assertion: All living organisms are linked to one an"tijfmatﬂ”al‘ At b i 4
Reason: Because all organism sharing common gera“
Section ﬁ
(2]
(1]

\D/ Musca domesticd
. on name of the organism, 9
fthe n ot®
o e name del? ['l. -"’11
(2]

J Wh ﬂtadr: ttll:syﬁfrlitl:: in italics?
y &
Ql8 Gametophyte 15 3 dominant phase in the life cycle of a- tfrj"ﬂphy‘.te, Explain.
8}/ (a) Given that the average duplican’nn time of E. col! is 20 minutes, how much time will two 0
_coli cells take to become 32 cells?
‘gr/gﬂ the statement— Telophase is rever™® of prophase. -
the structure and location of the chromosome.. "
1)

Q;J riefly explain ‘
) What are flagella? Explain the structure of flagel!@- |
us? Explain the structure of stomata with a labelled diagram. j
(2)

What is stomatal apparat
OR

t? Diagrammatically sh

Q15 ssertion: Chit
Reason: Chitin

ow the parts of a mango fruit.

Section C
of two mnuusacchaﬂdes obtained on hydrolysis of lactose sugar. [1x3]

2 (@) Write the name
) Why Vitamin C cannot be stored in our body”
What is the difference between a nucleoside and nucleotide?
[1x3]

/ . te between the following: E/
: 2), RER and SER ¢) Peripheral and [ntegral membrane proteins.

) Mitochondria and Plastids
Q24 Mention twO similarities between: [1x3]
(b) A frog and crocodile (c) A turtle and pila
of a liverwort. [2+1]

42)4 (a Draw labelled diagrams of Female and male thallus
Why are bryophytes called the amphibians of the plant kingdom?

the following with reference to the anatomy of Dicot stem:
i the vascular bundle? Hﬂ
2

(a) Where exactly are the cambial cells located
(b) What is the name given to such a bundle?
(c) How are xylem vessels arranged? (1]
| (d) Whattype of cells constitute pith? (1]
d7 - With the help of diagrams show the position and grrangement of various floral 0rgans in an
epigynous and a perigynous flower. Name an example of each.
ﬂtﬂ'm Show any four types ﬂfthm diagrmlmﬂ“cﬂ“y- [3.1

.E 21T

ﬁmgmfmmt on any three groups of protozoans-

. .
= 2 e 3 ’ " 5
F. T, 5
& . = i
R -
y

What is @ frui

029 Biological classification is the scientific Section D the arrangement of the organisms 10 @

A ”ﬁ“ of groups and sub-groups mﬁﬂ !‘nwt'l‘;:ir similarities and dissimilarities. Right

e times, several attempts have been basis | ssify the living organisms. The B L

to attemp 4mﬁﬂsm of classification was ; made 10 e ysed simple murphniuglcal characters 10
classify plants as trees, shrubs, and herbs Aristotle.
0G' 30-09-20




we hotanie
than 118 ol (sciontifi ' '
) e Visufn sat v Wiy

of pea is simpler '
| qu:['l {nsteid of the Cormnl .
PIEA scientific/botamcal name i

4) /The common name
an name no

then is the simpler comm
biology?
OR been i)
cia have Deen clubb %
er bbed together in Fabacteria of kin gaom

’ %’mlﬁbacteria and heterotrophic bact E
onera as per the “Fi | ‘Jassification”

P Five K"lgdﬂ'ﬂ\ 'L.lﬂﬁ even lhi'lu:.![‘h the two are -:,r',r.;ﬂljf Fiifrﬂfﬁﬁ*

ified? W 80,

from each other. Is this grouping of the two tyPS Of taxa in the same kingdom just
’ ¥ -
asexually by variety of spores under different enyyironmenta) {2} *?'p

why?
(b) Algae are known 10 reproduce
conditions. Name any two Spores and the conditions under which they are pre duced.
i
1

/
\}ﬁ{ Fungi are cosmopolitan, write the role of fung
g the reproductive structure

i 1n your daily life.
found in flowering phants.
rgans — sepals that enclose and protect the developni
oductive organs that produ sophytes, whinh in
etophytes, which produce sperm, &% enclosed withm
| within the avules

ale gametophytes are contained
am given below:

Q30 A flower, also known as a bloom or blossom, 1
Flowers consist of a combination of vegetative O

ﬂﬂwer: These petals attract pollinators, and rept
flowering plants produce gametes. The male gam
pollen grains produced in the anthers. The fem

produced in the ovary.
Define placentation and identify the typ

) % @ (1)
g

e of placentation in the diagr

) Differe iate between the followin
\i)/z?lbmus “oot and adventitious root.
i) Apocarpous and syncarpous ovary. - . 2]
OR ;
: ample.
) Differenciate between racemose and cymose type of branching niitirg t:mh ﬂph_P
ii) Differenciate between two diadelphous and pnlyadelphuus it "
(c) Write the economic importance Solanaceae family- ?
Bkt xample of each: A2l
1 .(ﬂéiw the characteristic features of the following citing “‘:;;a s Eaphalgchﬂtdﬂ-tﬁ
i Chondrichthyes and Osteichthyes . Uroch© . £ body cavity in case A

(b) What is the elationship between germiral laye® and the %0

of coelomate, acoelomates and pseudncuelnmms'?

OR
(a) Differentiate between the following:
() Homosporous and heterosporous pteridophy'®®
(i) Liverworts and moss
rite @ two economic importance of algae at o TeSPITe 2 hibernation
R s es : -
jration in the frog H“‘:fdi frog ghowing complet digestiV
S

three types of resP
Name the e sent the internal organ



